Quotient Rule

lo der hi der lo
eolo

$$f(x) = \frac{(t+2)(4t^3+1)}{(t^3-4)(t-1)}$$

$$f'(x) = \frac{(t^2 - 4)(t - 1)[1 \cdot (4t^3 + 1) + (t + 2)(12t^3)] - (t + 2)(4t^3 + 1)[2t(t - 1) + (t^2 - 4) \cdot 1]}{((t^2 - 4)(t - 1))^2}$$

$$f(t) = \frac{(t^2 + \partial t + 3)(4t^{-2} + 5t^{-3})}{f(t)}$$

$$f'(t) = d(first) \cdot second + first \cdot d(second)$$

$$= [2t + 2][4t^{-2} + 5t^{-3}] + [t^{2} + 2t + 3][-8t^{3} - 15t^{4}]$$

Find
$$rac{d}{ds}igg(rac{1}{s+ke^s}igg).$$

$$\frac{ds}{s + ke^{s}}$$
- power
- product
- product
- product

$$\frac{\left(s+ke^{s}\right)\cdot 0-1\cdot \left(1+ke^{s}\right)}{\left(s+ke^{s}\right)^{2}}$$

$$= \frac{-\left(1+ke^{s}\right)}{\left(s+ke^{s}\right)}$$

Chain Rule

Suppose:
$$F(x) = \beta(g(x))$$

composite function

chain rule tells us how to dx (F(x))

(dea!

$$\frac{d}{dx} \left(\mathbf{F}(\mathbf{G}(\mathbf{x})) = \mathbf{F}'(\mathbf{G}(\mathbf{x})) \cdot \mathbf{G}'(\mathbf{x}) \right)$$

$$= \mathbf{F}'(\mathbf{G}(\mathbf{x})) \cdot \mathbf{G}'(\mathbf{x})$$

$$= \mathbf{II} \qquad \mathbf{II}$$

$$= \mathbf{IF} \qquad \mathbf{IG}$$

$$= \mathbf{IG} \qquad \mathbf{II}$$

$$f(x) = \sqrt{3x^2 + x} \cdot (6x + 1)$$
derivative of the

inside

derivative of the outside evaluated at the inside

$$= (12 \times + 2) (3 \times 2 + \times)$$